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Model Question Paper Set- 11

CLASS - IX
MATHEMATICS
T HE?
(a) URWT T (b) AURHT FE@T () T 6T (d) ST & DIy Tal
What is 77

(a) Rational Number (b) Irrational Number
(c) Whole Number (d) None of there

36 &1 eomers waR € —
100

(a) AT (b) TG SN (c) FTIFFT 3T (d) H A BIg T8
Decimal expansion of ﬁis -
100

(a) Terminating (b) Non terminating recurring
(c) Non terminating non recurring (d) None of there

(5+35)(5-+5) TR & -
(5++/5)(5-+/5) is equal to.
@35 ®V5 (@ 10 (d) 20
2ix2: @I A BRI :

2 1

The value of 23x23? will be :
(@0 (b) 1 )2 (@3
T4 W $IF T W § 9gUT 87

Which of these is a linear polynomial?

(@) 4 —3x+7 () Wi+dZ (c) y+2  (d) x4y +1"
y

24X +xH X @I iU [ 8 —

The co efficient of x* in 2+x*+x is:

@0 (b1 ©2 @-1
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13.

x=0 & oY 9UE Sx—4x*+3 @1 A BN —
The value of polynomial 5x—4x>+3 for x=0:

@0 B3 (@©4 (d)5
R (x+1), ¥ +x>+x+1 Pl TTI:I_@_S’ g7

Is (x+1) factor of x* +x* +x+1.

(a)EwT (yes) (b)ﬁ (No) (c) @I SR (Insufficient data)

(d)gﬂﬁ q Ebﬁ—:g‘ BEl (None of these)

IS x+y+2=0 A XF+y +7'=

If x+y+z=0 then X’+y’+z7°=

(a) xyz (b) 3xyz (¢) 2xyz (d)0
—2x+3y=6EbAfax+by+c=0ﬁa?ﬁ5WT\’a,bGﬁ'\’ ¢ BT A BRI —
To express -2x + 3y = 6 in the form of ax +by +¢ = 0. The value of a, b and ¢
will be -

@a=2b=3,c=6 (b)a=2,b=3,c=6

ca=-2b=3,c=-6 d) a=-2,b=-3,c=-6

y=3x+5% folU B fAdey ¥ & —

(a) TP Hfgelia &1 81 (b) b &1 &l B |

(c) SuRMT ®U ¥ 3P g1 &1 (d) T4 ¥ DIg Tl |

For y = 3x + 5 which one of the following option is true -

(a) A unique solution (b) Only two solutions

(c) Infinitely many solutions (d) None of these

x+y=4 Pl 8l g

The solution of x + y =41is —

(@x=1,y=3 b)) x=0,y=0 (©)x=4,y=1{d)x=1,y=4
x 3T BT FHIET B —

The equation of x — axis is -
@ x=0 (b)y=0 ©x=b (d y=>b



14.

15.

16.

17.

18.

19.

fdena (-2, 4) &1 o1 2|

The abscissa of co-ordinate (-2, 4) is
@-2 (b4 © 0 (d) 4,-2)

AP # (3, -1) BT e @ dH A1 &g IERia e ¢ |

In figure which point shows the co-ordinate of the point (3, -1)

N
Z . ! N N N
N3 T2 10 1 2 3 7
-\/
U fod gy fdg 9 =e ol Y@ o |ad 27

@ DT (@I (D) FH E P Tl

How many lines can pass through a given point?

(a) One (b) Two (c) Infinitely (d) None of these

54° 1 AR I BT A eIy ;

(a)46°  (b) 26° (c) 126" (d) 36’

Write the supplement angle of 54°

(@) 46" (b)26° (¢) 126" (d) 36°

IS T P10 Y /b b 3 H 30° 31 BN AT BIVT $I /Y R 27
(a) 60° (b)50° (c)30° (d)40°

If an angle is 30° more than one half of its complement, then what is measure
of angle?

(@) 60° (b) 50" () 30" (d) 40"

APfT § AOB U T & | x BT A @ :

In figure AOB is a line. The value if x is :

(@) 90° (b) 20" (c) 180° (d) 70°
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¢ AB=QR,BC=PR3R CR=PQ& @l —

(a) AABC = APQR (b) ACBA=APRQ
(c) ABAC = ARPQ (d) APOR = ABCA
If AB =QR, BC =PR and CR = PQ, then

(a) AABC = APQOR (b) ACBA=APRQ
(c) ABAC = ARPQ (d) APOR = ABCA
AABC § AB=AC 3R /B=45 T4 LC TR & —

In AABC,AB = AC and ZB =45 then ZC equal to :

(@) 40" (b) 45" (c) 50" (d) 135°

< ABC 3R DEF § AB = FD @1 ZA=/D ®| 3 M SAS Ifr]fead &
qairad B, e —

In triangles ABC and DEF, AB = FD and ZA = «ZD. The two triangles will be
congruent by SAS axism, if -

(a) BC=EF (b) AC=DE (c) AC=EF (d) BC=DE

¢ APB 3R CQD T 99tk X & al dv APQ, BPQ, CQP 3R PQD &
SUIFCINEICE N

() TF T (b) FHIGHT (¢) 76 T (d) PIS 3T AR AGHA

If APB and CQD and two parallel lines, then the bisectors of the angles APQ,

BPQ, CQP and PQD form :

(a) A square (b) A rhombus
(c) Arectangle (d) Any other parallelogram
D 3R E T AABC & 4ol AB 3R AC & %305 § @1 O Yol BC W

P8 g 8, 0 @1 A 9 Mam O 2 Ife P @ik Q 99 OB 3R OC @& 7
fd5 € T DEQPE & :
(a) T (b) AT (c) FHAGHS (d) FHIR A

D and E are the mid-points of the sides AB and AC of AABC and O is any

point on side BC, O is joined to A. If P and Q are the mid-points of OB and
OC respectively, then DEQP is :

(a) A square (b) A rectangle (c) A rhombus (d) A parallelogram
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AR FgHsl ABCD ¥ ®IUll C T D &1 ANhd HT &?

In a parallelogram ABCD, what is the sum of angles £C and £D?

(@) 90° (b) 120°  (c) 180°  (d) 360°

Teh AR gl BT URAT 22cm € | IS TSI 9T @I 419 6.5 cm 8 T BIST 4ol
T 99 T 27

The perimeter of a parallelogram is 22cm. If the longer side measures 6.5cm,
what is the measure of the shorter side?

(@) 15.5cm (b)4.5cm  (c¢) 6.5cm  (d) None of these

AP § BC 91 &1 &M & A LBAO = 60° 8| T LADC TR & :

In figure, BC is a diameter of the circle and ZBAO = 60°, then ZADC is

equal to : ‘\

A

A
\/

(a) 30° (b) 45° (c) 60° (d) 120°
gl fagall A 3R B ¥ 8I) 3cm a1 &1 U g didn o Habell 8, AT AB =
6cmz :
(a) 3T (b)TF (c)adR bIM (d) TTH A IS T
A circle of radius 3cm can be drawn through two points A, B such that AB =
6cm :
(a) False (b) True (c) Bothaandb (d) None of these
U6 ST ABC R AB = 4cm 3R 24 = 60° 8 @1 3991 944 721 &, It BC
AR AC P 3R 3 :
The construction of triangle ABC in which AB = 4cm, ZA = 60° is not

possible when difference of BC and AC is equal to :
(a)3.5cm (b) 4.5cm (¢) 3cm (d) 2.5cm
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BRI BT 3 8

The formula of Heron’s :

a+b+c

(a) (b) J(s—a)s—b)(s—c)

(©) \[s(s—a)(s—b)(s—c) (d) 3TH & BIg 7l (None of thse)

T B3R @1 4 41m, 40m 3R 9m @1 &, T $9 B &7 89%d © :

The sides of triangle are 41m, 40m and 9m, then the area of the triangle is :
(a) 90m>  (b) 45m> (c) 18m*> (d) 180m’

TP T FTd] TS =/, 9IS = b 3R JAqE = 4 § &1 90 I 8395 @ :

A cuboid whose length =/, breadth = b and height = A, has total surface area :

(a) Ib+bh+hl (b) 2h(l+b)
(c) 2(lb+bh+hl) (d) gﬂff q Ebﬁ—:g‘ EH| (None of these)
T el et B39 = r 8, &1 T2 &9 2

A sphere whose radius = r, has surface area :
@) %mﬁ b) 7 () 4zt (d) 27

T do el BT = r &, 3R S = h &, BT A o -
A cylinder whose radius = r and height = &, has volume :
(@) r*h (b) 3zr*h  (c) #r*h (d) 27zr’h

T 3 MeTHR T@N H a1 R W IFD BT 6cm | 12cm & AA g1 QM0
RerfoRl # &N & U &=%al BT 3uTd @ :

The radius of a hemispherical balloon increases from 6¢cm to 12cm as air is

being pumped into it. The ratios of the surface areas of the balloon in the two

cases is:

@1:4 (b)1:3 (¢)2:3 (d2:1
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e foeg L 1111 &Y aRERaT &

The frequency of tally marks M1l is :
@5 (b)6 ()8 @9

s 0,5,9,3,12,15,6,7, 8 BT IR &
The range of datas 0,5,9,3,12,15,6,7,8 1is:
(@ 12 (b) 15 (c) 65 (d) 9

it 3feRT 10-20 @7 9 forg B

The class marks of class interval 10 — 20 1is:
(a) 10 (b) 20 (c) 30 (d) 15

UG JRTT T B WHAHT 8

The probability of an impossible event is :
1
(@1 ()0 (o 5 (d) 2

T FREd ge o M ?
The probability of a certain event 1is :

@0 b1 (23



